1.

= Al T a, b, c i BAS SHEA UERd 227

a=V3+3,b=5-vV2,c=4

D a<b<c @ b<a<c

@ c<a<b ® c<b<a

@ b<c<a




¥ —dx+ 33 2x% - 3x -9 9] FFAJFE F

2.



=b

28 x (30 + a) = 30% - a?

@ 892 ® 894 @ 896 ® 898

@® 890



o2 H7)= o|apets y = 342 o] e mo] EAS A2 Aot &2
Ag nE N2H?

(4]

H7]

Q@ HAHe] dHolal, y ol Histe] HA el

© A (-3, 27) & At

© oFfE EFot, Al 1, 2 AREHS Adrh

® yo @ Wel=y>o00|th

@ x<0 QAN x 7F F7tsHd y = S7HRI

ORQ) ® 0.0 ® 9,0,
@® 9,066 ® 9.0,



5.

a>0,b<0%2 W, /(2a)2+ /(-a)% - /(5b)% & et

@D a-5b @ a+5b ® 3a-5b

@ 3a+5b ® 5a-5b



6.



T, (x+2°-5(x+2)+6, > +x-2 9 FFAFE?

@ x @ x-1 @ x+2 @ x-3 ® x+1



8. X +3x=5L M, x(x+1)(x+2)(x+3)-3 2] 72?

@® 21 @ 32 ® 60 @ 96 ® 140



OJAF S y = —x? O TALE x 59 WFOZ 4 W
Tz A x 9 grol F7HE 1 y o] = F7HHe x 9

9

@ x>-4 @ x<-4 @ x<4

@ x>4 ® x>-5



10. o2 182 y=ax’+bx+c o I molt}t ofS F 24

52

o o

yl\

—r--—---

—
E%V

s

® ab<0 @ bc>0 ® ac>0

@ abc <0 ® a+b+c>0



11.

O|xFer y = ax?+bx+c & ZFHigko] 9 o]
09 & o] -1, 5 4 ), abe ©] ZH27 (

@ 45 @ 20 ® -5



0|

12, ZA5 x o thiste] v ofste] 259 S f(x) 2 T o,
F(150) = £(99) °] g2

@ 274 @ 374 @ 47 @ 571 ® 671



13. o2 139 34 949 H A, B, C, D 9 }-&st= =& 27
abc,d 1 W a+b+c+dF2? (F, By 2 AL
o7} 1 Q1 A oltt)

I~
™ Yy y
-1A 1 2 3 4B C7 8 D10
@ 13 ® 17 @ 20 ® 24






A a2 tax+b =029 F 2 A7 4o, & Fo] A2

g A

17}

15.

29

=2 3 W, a+ b o] gk

@ 4 ® 5

® 3



16.

W7 7S mret e whs A&e] 98 wiRTt A4 2km o whaT,
7o) ARolA ShR7HA 12k & Rale d 5 A7 AL, 12km
2 ol o Aelt AZHe 9 X714 Fotolal,

> ER Azt



17. 0Bt 2 A5 g, bol dgte] (a-1)2=(b+1)2 =2 L 0, a® - b8
o] g FStoiet

D
=%



18.

th& 1294 LABC = /CAD, BC =
S8cm ©]1 AE AC ¢] Zol= AR CD ¢
Zdole] 2 ijd wff, A& CD 9] dol&
stofef,

D R
=%




o] JAo)A] x, y FHTIt BT

1749 g Arhe A= ThE o3}

el

S}
=

oy
!

ol
H -
O_E i~
KR 5l
o =
Ko mk
Kl
o H
L 7T
% M

7H



20.

SxFgFeRz 1Ty
F1e1 A1 A(0,a), B(3,b),
BC o Welg 7%

teiet.



